Multiplicacion (A)

Halle cada producto.

7 x8= 0x7= 7x12 =
7x7= 7x11= 6x7=
10 x 7 = 5x 7= 7 x 1=
2x7 = 3 x7 = 7 x9 =
7 x4 = 6x7= 7x7=
7 x12 = 7 x 3= 7 x4 =
5x7= 7x11= 10x7 =
I9%x7= 1x7= 7 x 8=
7 x 2= 0x7= 7 x 3=
10 x 7 = 7x8= 2x7=
7 x11 = 1x7= 7 x0 =
5x7= 7x12 = 7x9=
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Multiplicacion (A) Respuestas

7 x 8
7 %7

10x 7 =

2 x7
7 x4

7x12=

5x7
9x7
7 %2

10x 7 =
7x11 =

5x7

Halle cada producto.

56 0x7= 0 7x12=
49  7x11= 77 6x7=
70 5x7= 35 7x1=
14  3x7= 21 7x9-=
28 6x7= 42 Tx7-=
384 7 x3= 21 7 x4 =
35 7x11= 77 10x7=
63 1x7= 7 7 x8=
14 0x7= 0 7 x3=
70 7x8= 56 2x7 =
77  1x7= 7 7x0=
35 7x12= 84 7x9=

84
42
7

63
49
28
70
56
21
14
0

63
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Multiplicacion (B)

Halle cada producto.

7x0= 7x7= 10x 7 =
2 x7= 1x7= O%x7=
12 x 7 = 7 x 8= 7 x 3 =
4 x7 = 11 x7= 7x5=
7x6= 0x7= 6x7=
5x7= 7 x4 = 7 x 8=
7x11= 7 x12 = 3x7=
7x1= O9%x7= 7 x7=
7 x10 = 7 x 2= 7 x7 =
8x7= 4 x7 = 6 x7 =
7 x3= 7x5= 1x7=
2x7= 0x7= Ox 7=
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Multiplicacion (B) Respuestas

7 %0
2x7

12x7 =

4 x7
7 %6
5x7

7x11=

7 x1

7 x 10 =

8 x 7
7 %3
2x7

Halle cada producto.

0 7 x7 = 49  10x7=
14 1x7-= 7 Ox7=
84 7x8= 56 7x 3=
28 11x7= 77 7x5=
42 0x7= 0 6x7=
35 7x4-= 28 7 x8=
77  7x12= 84 3 x7=
7 I9x7= 63 7Tx7=
70 7 x 2= 14 7 x7 =
56 4x7-= 28 6x7-=
21 7 x5= 35 1x7=
14 0x7-= 0 Ox7=

70
63
21
35
42
56
21
49
49
42
7

63

MatesLibres.Com




Multiplicacion (C)

Halle cada producto.

1x7= 2 x7 = 0x7=
7x11= 8x7= 7 x7 =
7 x9 = 6x7 = 4 x7 =
10x7 = 7 x5 = 7x12 =
7 x3= 7x6= 4 x7 =
0x7= 7 x5 = 7x12 =
10x 7 = 3x7= 2x7=
I9%x7= 8x 7= 7 x7 =
11 x7 = 1x7= 7 x 8 =
7x0-= 7x11 = 7x1=
7x12 = 4 x7 = 7 x 2=
7 x 3= 10x 7 = 7 x7 =
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Multiplicacion (C) Respuestas

1x7

7x11=

7%x9

10 x 7 =

7 %3
0x7

10x 7 =

9x7

11 x7=

7 %0

7x12 =

7 %3

Halle cada producto.

7 2 x7 = 14 0x7=
77  8x7= 56  7x7=
63 6x 7= 42 4 x7 =
70 7 x5= 35 7x12-=
21 7 x6= 42 4 x7=
0 7 x5 = 35 7x12-=
70 3x7-= 21 2x7=
63 8x 7= 56 7 x7 =
77 1x7= 7 7 x8=
0 7x11= 77 7x1-=
84 4 x7= 28 T x2=
21 10x7= 70 7x7=

0

49
28
84
28
84
14
49
56
7

14
49
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Multiplicacion (D)

Halle cada producto.

7x11= 7 x0= 7 x9 =
7 x7 = 7 x 8= 3 x 7=
5x7= 6x7= 10 x 7 =
1x7= 12 x7 = 2 x7 =
4 x7 = 7x6= 11 x7=
7x0= 10 x 7 = 7 x 3=
7x2= 12%x7 = 5x7=
I9%x7= 7 x4 = 7 x 8=
7x1= 7 x7 = 7 x0 =
7 x4 = 7 x12 = QOx7 =
7x7= 7x5= 3x7=
7x1= 10 x 7 = 7 %6 =
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Multiplicacion (D) Respuestas

7x11=

7 x7
5x7
1x7
4 x 7
7 %0
7 %2
9x7
7x1
7 x4
7 x7
7x1

Halle cada producto.

77  7x0= 0 7 x9 =
49 7 x8= 56 3x7=
35 6x7= 42 10x7=
7 12x7= 84 2x7-=
28  7x6= 42 11 x7 =
0 10x7= 70 7x3=
14  12x7= 84 5x7-=
63 7x4= 28 7 x8=
7 7 x7 = 49 7x0 =
28 7x12= 84 9x7=
49  7x5= 35 3 x7=
7 10x7= 70 7x6=

63
21
70
14
77
21
35
56
0

63
21
42

MatesLibres.Com




Multiplicacion (E)

Halle cada producto.

2 x7= 1x7= 8x 7=
7 x10 = 7 x9 = 7 x 4 =
7x11= 7 x12 = 7 x 3=
0x7= 7 x7= 6 x7 =
5x7= 7 x9 = 8 x7 =
1x7= 7x12 = 7x7 =
7x2= 7 x5 = 0x7=
7 x 6= 7 x 3= 7 x 4 =
7x11= 10x 7 = 7 x7 =
7 x6= 12x7 = 7 x9 =
7 x 8= 7 x2= 7x5=
7x11= 7x10= 0x7=
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Multiplicacion (E) Respuestas

7x10 =
7x11=
O0x7=
5x 7=
1x7=
7 x 2=
7 x 6=
7x11=
7 x 6=
7 x 8=
7 x11=

Halle cada producto.

14 1x7= 7 8x 7 =
70 7x9= 63 7x4=
77  7x12= 84 7x3=
0 7x7= 49  6x7=
35 7x9= 63 8x7-=
7 7x12= 84 7x7-=
14 7x5= 35 0x7=
42 7 x3= 21 7x4-=
77 10x7= 70 7x7 =
42 12x7= 84 7 x9=
56 7 x2= 14 7x5=
77  7x10= 70 0x7=

56
28
21
42
56
49
0

28
49
63
35
0
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Multiplicacion (F)

Halle cada producto.

7x0= 7x11= 3x7=
7x1= 5x7= 7x6=
10x7 = 7 x 8= 12 x 7 =
7 x7 = 7 x4 = 7 x9 =
7 x 2= 10x7 = 7 x4 =
7 %x6= 12 x 7= 7x11=
7 x7 = 7x1= 7 x 8=
5x7= 3x7 = 7 %0 =
7x9= 2x7= 5x7=
2x7 = 7 x 0= 7 x9 =
7 x7 = 12 x7 = 1x7=
8x7= 3x 7= 11 x 7=
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Multiplicacion (F) Respuestas

7 %0
7 x1

10x 7 =

7 x7
7 x 2
7%x6
7 x7
5x7
7%x9
2 x7
7 x7
8 x7

Halle cada producto.

0 7x11= 77 3x7-=
7 5x7= 35 7x6=
70 7 x8= 56  12x7-=
49 7 x4= 28 7 x9=
14 10x7= 70 7x4=
42 12x7= 84 Tx11l-=
49  7Tx1= 7 7x8=
35 3x7= 21 7x0-=
63 2 x7 = 14 5x7 =
14 7x0= 0 7 x 9 =
49 12x7= 84 1x7-=
56 3 x7= 21 11 x7-=

21
42
84
63
28
77
56
0

35
63
7

77
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Multiplicacion (G)

Halle cada producto.

6x7= 0x7= 7x11=
5x7= 7 x 3= 7x1=
7 x12 = 7 x 2= 7 x7 =
10 x 7 = Ox7= 7 x4 =
7 x 8= Ox7= 7x1=
10 x 7 = 3x7= 4 x7 =
6x7= 0x7= 2x7=
7 x5 = 7x12 = 8x7=
7 x7 = 11 x7= 8x7=
10x7 = 12x7 = 7x11=
1x7= 7 x4 = 7 x 2=
3x7= 7x6= 7 x7=
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Multiplicacion (G) Respuestas

6 x7
5x7

7 x12 =
10x 7 =

7 x 8

10x7 =

6 x7
7x%x5
7 %7

10 x 7 =

1x7
3x7

Halle cada producto.

42 0x7-= 0 7x11=
35 7x3= 21 7x1=
84 7Tx2= 14 7x7-=
70 Ox7 = 63 7 x4 =
56 9x7= 63 7Tx1=
70 3x7= 21 4 x7=
472 O0x7= 0 2x7 =
35 7x12= 84 8x7=
49 11x7= 77 8x 7=
70 12x7= 84 7x11=
7 7 x4 = 28 T x2=
21 7 x6= 42 7x7 =

77
7

49
28
7

28
14
56
56
77
14
49
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Multiplicacion (H)

Halle cada producto.

5x7= 7x3= 12 x7 =
0x7= 1x7= 7 x 8=
2x7 = 7 x7 = Ox7=
6x7= 7x11= 10x7 =
7 x4 = 7 x 6= 7 x 3=
7 x5 = 7 x0= 4 x7 =
1x7= 7x10= Ox7=
7x7= 7x12 = 11 x7=
2x7 = 8x7= 7 x 4 =
7x11= 7x12 = 6x7=
7 x 3= 7x7= 8x7 =
7x1= O%x 7= 0x7=
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Multiplicacion (H) Respuestas

5x7
0x7
2 %7
6 x 7
7 x4
7x5
1x7
7 x7
2 %7

7x11 =

7 %3
7 x1

Halle cada producto.

35 7x3= 21 12x7=
0 1x7= 7 7x8=
14  7x7= 49 9x7=
42 7x11= 77 10x7=
28 7x6= 42 7x3=
35 7x0= 0 4 x7 =
7 7x10= 70 9x7=
49  7x12= 84 11x7-=
14 8x7= 56 7x4-=
77  7x12= 84 6x7=
21 7x7= 49 8x7-=
7 9x7= 63 0x7=

84
56
63
70
21
28
63
77
28
42
56
0
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Multiplicacion (I)

Halle cada producto.

3 x7= 7 x 0= 7x1=
7 x7 = 12x7 = 7%x9=
11x7= 7 x 2= 10 x 7 =
8x7= 4 x 7 = 5x7=
6x7= 7x1= 7 x 3=
7 x 8= 7 x0 = 7 x9 =
6x7= 5x7 = 11 x7=
12 x 7 = 4 x7 = 7 x7 =
7 x10 = 7 x 2= 7 x 3=
12x7 = 7 x4 = 7 x7 =
1x7= 7 x 2= 6x7=
7 x5 = 8x7= 10x 7 =
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Multiplicacion (I) Respuestas

3x7
7 %7

11 x7=

8 x 7
6 x7
7 %8
6 x7

12 x7 =
7 x 10 =
12 x7 =

1x7
7 x5

Halle cada producto.

21 7x0= 0 7x1=
49 12x7= 84 7x9=
77 T x2= 14 10x7=
56 4x7= 28 5x7=
42 Tx1= 7 7 x 3=
56 7x0= 0 7x9=
42 5x7= 35 11x7-=
34 4 x7 = 28 7 x7 =
70 7 x 2= 14 7 x 3=
84 7x4= 28 T xT7-=
7 7x2= 14 6x7-=
35 8x7= 56 10x7-=

7

63
70
35
21
63
77
49
21
49
42
70
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Multiplicacién (])

Halle cada producto.

7x5= 11x7= 7x10=
7 x6= 7 x4 = 7 x 8=
2x7 = 7 x7 = 12 x 7 =
1x7= Ox7= 0x7=
3x7= 7x3= 7 x8=
2x7= 7x10 = 5x7=
I9%x7= 7 x 0= 1x7=
7x7= 7x12 = 11 x7=
7 x4 = 7 x 6= 0x7=
7 x7 = 7 x4 = 7x1=
7 x9-= 12x7 = 3x7=
5x7= 2x7 = 7 x6=

MatesLibres.Com




Multiplicacion (J) Respuestas

7 x5
7%x6
2 %7
1x7
3x7
2 %7
9x7
7 x7
7 x4
7 x7
7%x9
5x7

Halle cada producto.

35 11x7= 77 7x10=
42 T x4 = 28 7x8=
14 7 x7 = 49 12x7 =
7 9 x7= 63 0x7-=
21 7x3= 21 7x8=
14  7x10= 70 5x7=
63 7x0-= 0 1x7=
49  7x12= 84 11x7=
28  7x6= 42 0x7=
49 T x4= 28  7x1-=
63 12x7= 84 3x7=
35 2 x 7 = 14 7x6=

70
56
84
0

56
35
7

77

21
42
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